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극미세영문법 
[21-5] 컨닝페이퍼

1. if가정법에서 If를 생략하면 _________________ 구조가 된다.

2. 다음 두 문장의 의미가 통하도록 빈칸을 채우시오. 
   ① If I were in his shoes, I would accept the proposal.
      = ________ ________ in his shoes, I would accept the proposal.

   ② Were I single, I would be lonely.
      = ______ ______ ______ single, I would be lonely.

   ③ If we had known that it was urgent, we would have called before.
      = ______ ______ _______ that it was urgent, we would have called before.

   ④ Had we not missed the train, we would have been at the meeting on time. 
      = ______ _____ ______ _______ ________ the train, 

   ⑤ If he had taken the doctor's advice, he might still be alive.
      = _______ ________ ________ the doctor's advice, he might still be alive.
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1. [정답]
   주어와 동사가 도치

2. [정답]
    ① Were I 

    ② If I were

    ③ Had we known

    ④ If we had not missed 

    ⑤ Had he taken
 

[21-5] 정답 및 해설


